


TABLE OF CONTENTS

                              
INTRODUCTION…………………………………………………………………   2 

WEDGE ALIGNMENT & ADJUSTMENT……………………………………….   3 

WEDGE CLEANING……………………………………………………………...    9 

WEDGE REPLACEMENT……………………………………………………….   10 

MATERIAL GUIDES……………………………………………………………..  12 

HIGH SPEED OVERLAP ROLLER PREHEAT FRAMES……………………….17 

HEMMING GUIDE SYSTEM……………………………………………………   21 

MATERIAL SET-UP………………………………………………………………  30 

TRACK WELDING SPECIFICATIONS………………………………………….  31 

OPERATING INSTRUCTIONS…………………………………………………..  33 

SCHEMATICS AND PARTS LIST………………………….…………………. .   34 

1



INTRODUCTION

The Spec Hot Wedge Welders are designed for the in house fabrication of a 
wide range of flexible thermoplastics.  This includes, but is not limited to, 
PVC, PP, PE, LDPE, urethane, geomembrane material, etc. Acrylic coated 
fabrics can also be welded with the addition of our Thermal Bonding Tape. 

The different Spec models provide a specific type weld: Overlap, Hem (hem 
cord/ flat hem /pockets), Thick Material. 

The Spec uses a hot wedge as its heat source.  The bonding of 
thermoplastics is achieved by a combination of heat (temperature), speed 
(exposure time) and pressure (bonding force). This method will give you 
smokeless and quiet operation.  The wedge also allows for welding thinner 
products without distortion. 

The Spec can be used as a stationary welder or in a self propelled mode.  
When using the Spec in a self propelled mode, a track system is suggested.   
It is important in most applications to provide support and/or tension to 
materials while welding.  Please refer to Track System Specifications. 

We suggest that you make sample welds of your materials to achieve the 
correct settings for heat, speed and pressure before you start welding your 
finished product. In addition, wedge alignment is critical to a quality weld. 
Be sure to review the wedge alignment section of this manual. 

2



Wedge Alignment & Adjustment 

Proper alignment of the wedge is essential to achieving a quality weld of the 
thermoplastic material.  A variety of issues relating to the bonding of the material, 
flow of material through the machine, and the aesthetic finish of the weld can be 
attributed to the proper positioning of the wedge.  It is therefore crucial to 
understand and practice the various adjustments for wedge alignment.

It is recommended to review the alignment of the wedge: 
 On a weekly basis; 
 When beginning new welding projects; 
 Changing wedge style and sizes; 
 Large variance of material weight or density; 
 Noticeable wedge wear; 
 Transportation of the machine; 
 Change in operator of machine. 

There are three alignments for the Spec Wedge: Vertical, Angle, and Horizontal.  
The vertical alignment refers to the up and down position of the wedge in relation 
to the pressure rollers.  The angle alignment refers to the wedge tip position with 
respect to being parallel with the pressure rollers.  And the horizontal alignment 
refers to the forward or aft position between the wedge tip and the pressure 
rollers.

Initially the Spec Wedge Welder is aligned and tested at the factory.  A visual 
review of the alignment should be made upon receiving the machine.  In 
addition, sample welds should be made first to test the alignment as well as the 
material to be sealed before starting on an actual project.

Begin all alignment adjustment with a cool, clean wedge. 

3



For the vertical alignment, the proper position should be the wedge tip centered 
between the pressure rollers. 

1. Take a small piece of the material to be welded, fold in half, and place 
between the pressure rollers.  Close the rollers together with the fold of 
material just inside the center of the roller. 

2. Engage the wedge lever in to the welding position.  Begin by viewing the 
wedge tip position from the inner, pivot side.  Slowly move the wedge in 
and out of the welding position; the wedge tip should just contact the fold 
of material. 

3. If adjustment up or down is needed, use the 8mm hex wrench in the 
vertical adjustment. Turn the wrench clockwise or counterclockwise for 
either the up or down movement viewing from the pivot side.  When 
adjustment is correct, view from the outer side of the wedge. 

1              2                               3 

4



For the angle alignment, the proper position for most applications should be the 
tip of the wedge parallel to the pressure rollers. 

1. Open the pressure rollers.  Turn the wedge in to the welding position.  
Make a comparison of the wedge tip to the bottom of the upper pressure 
roller.  To view this, adjust your field of vision at the rear of the Spec and 
above the welding area so that the tip of the wedge is seen just below the 
bottom edge of the upper pressure roller.

2. Adjust the angle of the wedge using a 4mm hex wrench in the angle 
adjustment screw located next to the wedge service pin in the wedge pivot 
housing.  Viewing the position of the wedge tip, adjust if necessary.
Turning the adjustment screw clockwise moves the outer edge of the 
wedge away from the pressure rollers.  Turning the adjustment screw 
counterclockwise moves the outer edge of the wedge towards the 
pressure rollers. 

1              2 

5



For the horizontal alignment, the wedge tip and surface should just make contact 
with the pressure rollers.

1. Lower the pressure rollers together and engage the wedge in to the 
welding position.  View this alignment from the inside or pivot side of the 
wedge.

2. To adjust, open the pressure rollers and place a 3mm hex wrench in the 
fwd/back adjustment screw located on the adjustment hub.   

3. With a 4mm hex wrench, just loosen the adjustment locking screw. 

6



4. Rotating the fwd/back adjustment screw clockwise will move the wedge tip 
away from the pressure rollers.  Rotating counterclockwise will move the 
wedge tip towards the pressure rollers.  When changing directions on this 
screw, there will be a couple of rotations on the screw that produce no 
movement to the wedge. 

5. View movement of the wedge from above.  Rotate the fwd/back 
adjustment screw in ¼ to ½ turns at a time, checking the new wedge 
position each time.  When completed, retighten the adjustment locking 
screw.  Remove the two hex wrenches. 

6. Swing the wedge out of the welding position, close the pressure rollers, 
and engage the wedge in again to the welding position.  Check the 
alignment as in step 1. If further adjustment is necessary, repeat all steps. 

7



A special adjustment to the angle alignment should be considered for larger 
wedge sizes (30mm +), thicker materials, or to help control the material during 
the welding process.  This application involves making a slight “toe-in” angle to 
the outer edge of the wedge. 

1. Open the pressure rollers and remove the upper material guide tray. 
2. Place a straight edge against the outside edge of the wedge.  Observe the 

angle between the straight edge and the pressure rollers.  This angle 
should initially be 90 degrees. 

3. Place a 4mm hex wrench in the angle adjustment screw located next to 
the wedge service pin on the wedge pivot housing.

4. Turn the wrench counterclockwise so that the outside tip of the wedge 
makes an inward movement towards the pressure rollers.  Use the straight 
edge against the edge of the wedge to again determine this “towed-in” 
angle.  The exact angle needed is at your discretion; initial make a 5 
degree change and then make test welds to determine the results. 

5. Review this “toe-in” adjustment by closing the pressure rollers and turning 
the wedge into the welding position.  When the rollers are slowly opened, 
or separated, a slight movement inward of the outer edge of the wedge tip 
should be seen.  And when closed again, the wedge will be pushed back.   

2       3 & 4       

8



Wedge Cleaning 

The welding of various thermoplastics will result in burned coating residue which 
will accumulate on the surface of the hot wedge.  Cleaning of the wedge is 
required daily if not several times depending on the accumulation and resulting 
quality of the weld.  The wedge should be cleaned after heavy use, changing 
thermoplastic materials, or if not in use for long periods of time. 

The best way to clean the surface of the wedge involves burning the residue to 
the point it is released from the metal surface and is easy to blow or brush off. 

1. With the wedge in the stowed position, turn the wedge engagement lever 
in slightly and gently pull on the wedge service pin.  The lever will now 
rotate out farther than the stowed position to the service position.

2. Increase the temperature of the wedge to 510 degrees.  Allow sufficient 
time for the residue to be baked off the wedge, typically 5 to 10 minutes. 

3. Once the residue is loose from the metal, blow or gently brush to 
eliminate.  Do not scrub the metal surface as it will be scratched and worn. 

4. If residue is still present, allow more time to continue this process.   
5. When cleaned, lower temperature and rotate the wedge back in to the 

stowed position. 

1              2 

3

9



Wedge Removal & Replacement 

When changing to different size seam widths, the hot wedge will need to be 
removed and replaced with a different wedge.  In addition, if the wedge no longer 
heats, wedge alignment is no longer effective, or the wedge surface is worn or 
destroyed, the wedge must be replaced.  Always work with a cool wedge with the 
power switched off and electrically disconnected from the power source. 

1. With a cold wedge, rotate the wedge out to the service position as 
described in wedge cleaning.

2. Remove the two clamps holding the electrical wires secure to the machine 
using a Phillips head screwdriver.  Tilt the Spec Welder on its side.  One 
clamp is located under the arm of the wedge mount arm.  The other is on 
the inside corner of the wedge pivot housing. 

3. Electrically disconnect the wedge wires from the Spec control box by 
unscrewing the locking ring and gently pulling the connector from the 
socket.

4. Loosen the two locking screws for the clamping system of the wedge 
retaining rods to the wedge mount arm.  Pull the wedge from the clamp 
and remove. 

2                2 

3                4 

10



To install a new wedge: 

1. Position and insert the two retaining rods from the wedge into the 
clamping system on the wedge mount arm.  Slightly tighten the two set 
screws to hold the wedge to the arm. 

2. Rotate the wedge engagement lever so the wedge is in the welding 
position.

3. Adjust the position of the wedge side to side relative to the lower pressure 
roller.  Most often the wedge tip will match the size of the roller.  In other 
case the wedge tip may be smaller and should be centered in the lower 
pressure roller. 

4. Carefully rotate the wedge back out to the service position and secure the 
two cap screws for the clamp.  Re-check the position of the wedge to the 
roller.

5. Electrically connect the wedge wires to the Spec control box by twisting 
the braids near the connector so that it lines up with the socket, insert and 
rotate the locking ring clockwise to secure. 

6. Replace the two electrical wire clamps to their respective position as in #2 
of the removal process. 

7. With the installation of a new wedge it is recommended to perform a 
wedge alignment, especially if the wedge removed was well worn. 

1                3 

5

11



Spec Overlap Guide System 

Material Guides:

Material guides are used to properly position the material in the welding area.  
These upper and lower guide trays can be adjusted in three different directions 
to provide versatility in a variety of applications.  The guide trays can be moved 
up and down, towards or away from the pressure rollers, and side to side.  
Depending on the particular application and material that is being welded, 
testing for different configurations may be helpful.

To adjust the upper and lower material guide trays up and down: 

1. Loosen the two thumb screws on each of the adjustment frames.   
2. Use a Phillips head screwdriver to turn the adjustment screw located on 

the top of the adjustment frame.  By rotating one direction or the other, 
the guide tray will move up or down.   

3. With the wedge in the welding position, view from the side to adjust the 
upper material guide tray to the intended height.   

4. For the lower guide tray, close the pressure rollers on the cold wedge in 
the welding position and turn the adjustment screw to adjust to the 
intended height. 

5. When completed, retighten the thumb screws.   

        1 & 2                                                   1 & 2 

                                  3 

12



To adjust the upper and lower material guide trays towards or away from the 
pressure rollers: 

1. For the upper material guide tray, use a 4mm hex wrench to loosen the 
cap screw which holds the adjustment frame to the guide mount.   

2. With the large slot in the adjustment frame, the guide tray can be placed 
forwards or backwards.  Positioned away from the pressure rollers to 
allow for more preheat of the material as it approaches the welding area. 
Position towards the rollers where preheat would be minimized.

3. When placed in the desired position, tighten the cap screw. 
4. For the lower material guide tray, turn the Spec welder on its side to 

locate and loosen the two Phillips head screws which secure the guide 
mount to the base.   

5. The guide mount can be placed within the slot in the base of the Spec 
towards or away from the pressure rollers with similar results to that of 
the upper material guide tray. 

6. When placed in the desired position, tighten the two Phillips head screws. 

1              2                                          

 4 & 5 

13



To adjust the upper and lower material guide trays side to side: 

1. With the wedge in the welding position, place a straight edge against the 
guiding edge of each guide tray, extend out towards the pressure rollers, 
and view from above the rollers to properly position.   

2. For the upper guide tray, loosen the two thumb screws located on the top 
clamp plate used to secure the guide tray to the retaining rods and slide 
to adjust.  With the straight edge against the guide tray edge, match to 
the edge of the pressure roller and/or to the inside edge of the wedge. 

3. Note: Removal of the upper guide may be necessary so the upper guide 
tray positioning set screw can be adjusted.  Turn clockwise for a larger 
wedge size and counterclockwise for a smaller wedge size.  Adjust the 
screw so the guide tray stops in the correct position. 

4. When positioned correctly, retighten the thumb screws on the clamping 
plate to secure.

5. For the lower guide tray, use a 2mm hex wrench to loosen the two set 
screws located on the top of the adjustment frame.  Slide the lower guide 
tray to adjust to the proper position. 

6. With the straight edge against the lower guide tray edge, match to the 
edge of the pressure roller and/or to the outside edge of the wedge. 

7. When positioned, tighten the two set screws to secure. 

2                3 

5            6 

14



Front Guides:

Front Guides are provided for positioning of the material as it enters into the 
Spec Welder.  These front guides can be adjusted according to the specific style 
and size wedge being used.  To adjust the front guides: 

1. Use a 2mm hex wrench and loosen the appropriate set screw(s) for the 
upper or lower material front guide.

2. Position a straight edge against the edge of the previously adjusted upper 
and lower material guide trays and extend the straight edge beyond the 
front of the Spec. 

3. Slide the appropriate material front guide until it makes contact with the 
straight edge.  Repeat steps 2 & 3 for the other material front guide. 

4. When positioned correctly, tighten the set screws to secure. 

For overlap welding, enter the two sheets of material from one side and the 
other and insert each edge up against the guides.   The lower sheet is placed in 
between the two plates for the lower material guide tray and against the guide 
edge.  The upper sheet is placed in the top of the upper material guide tray and 
against the guide edge.  Extend the overlapped material to the pressure rollers, 
position correctly, and lower the rollers to secure.  Engage the wedge in to weld. 

15



Acrylic Overlap:

For welding with the Thermal Bonding Tape on acrylic coated fabrics, a guiding 
system has been developed to position the tape correctly.  To set up: 

1. Install the tape dispenser to the front rail on the top of the Spec.  Position 
the dispenser to the end of the rail above the tape front guide.   

2. Place a roll of Thermal Bonding Tape within the dispenser and feed the 
tape through the tape front guide and the lower section of the Spec body.

3. Remove the upper material guide tray so that the tape can be fed through 
tape guide located on the lower material guide.  Pull the tape out and lap 
over the lower pressure roller.  Reinstall the upper material guide tray.   

1               2 

           3 

To overlap weld acrylic coated materials using the Thermal Bonding Tape, enter 
the material from both sides of the Spec and place the edge of the material 
against the guides.  Make sure the tape is in the correct position and not 
confined or twisted.  Position the overlapped material and tape at the pressure 
rollers and lower the rollers to secure.  Engage the wedge in to begin welding. 

16



High Speed Overlap Roller Preheat Frames:

When assembled at the factory, the roller preheat frames for the Spec High 
Speed Welder have been positioned and adjusted for the specific hot wedge 
which has been installed.   

Follow the instructions given on page 10 for Wedge Removal & Replacement and 
page 12 for Material Guide adjustments if this wedge is to be changed.  The 
roller preheat frames should not need adjustment with a wedge width size 
change.

If a different wattage Spec High Speed Wedge is to be changed, the roller 
preheat frames will need to changed and adjusted to fit this new wedge.  To 
change the roller preheat frames: 

1. For the upper roller preheat frame, remove the two screws attaching the 
frame to the upper preheat roller mount arm.  Carefully push down the 
frame to release the positioning dowels from the mounting arm and set 
frame aside. 

2. For the lower roller preheat frame, turn the machine on its side and 
remove the two screws and washers holding the frame to the base 
portion of the machine.  Carefully push up on the frame to release the 
positioning dowels from the base and set frame aside. 

1                      2 

17



3. To install the lower roller preheat frame, carefully align the dowels to the 
holes in the base of the machine and push down to secure.  Note the 
position of the dowels in relation to the frame for the proper direction of 
the frame fitting to the base.

4. Replace the two screws and washers to secure the frame to the machine. 
3                                            4 

5. With closed pinch rollers, engage the cold wedge into the welding 
position.  Review the position of the rollers to the surface of the wedge.  
The rollers should just make contact with the wedge surface.

6. If adjustment of the frame is necessary to position the rollers against the 
surface of the wedge, locate the two adjustment screws in the frame.
Turn clockwise to lower the frame and anticlockwise to raise the frame.   

7. While raising or lowering the frame with the adjustment screws, work 
both adjustment screws evenly so that the rollers are level and parallel 
across the surface of the wedge. 

5 6

7

18



8. To install the upper roller preheat frame, carefully align the dowels to the 
holes in the upper preheat roller mount arm and push up to secure.  Note 
the position of the dowels in relation to the frame for the proper direction 
of the frame fitting on the mounting arm.    

9. Replace the two screws to secure the frame to the mounting arm. 
8                                           9

10. With closed pinch rollers, engage the cold wedge into the welding 
position.  Review the position of the rollers to the surface of the wedge.  
The rollers should just make contact with the wedge surface.

11.If adjustment of the frame is necessary to position the rollers against the 
surface of the wedge, locate the two adjustment screws in the frame.
Turn clockwise to raise the frame and anticlockwise to lower the frame.

12.While raising or lowering the frame with the adjustment screws, work 
both adjustment screws evenly so that the rollers are level and parallel 
across the surface of the wedge. 

10              11 

12

19



Spec Hemming Guide System 

Inner Top Edge Guide:

When the Spec Hem Welder is assembled at the factory, the top edge guide has 
been position correctly with the particular wedge size that is installed.  If the 
wedge size is changed, the top edge guide will need to be adjusted when the 
new wedge is installed.  To adjust: 

1. Begin by removing the entire hem guide system from the Spec machine.
With the wedge in the service position, remove the cap screw from the 
guide mount with a 4mm hex wrench.  Carefully pull out and remove the 
entire guide system and set aside to work with.

2. Loosen the two black thumb screws on the top of the outer guide and 
slide the two guide sections completely apart.

3. Working on the inner hem guide portion, loosen the two clamping cap 
screws for the top edge guide using a 3mm hex wrench.  One of these 
screws is in the front of the inner hem guide; the other is recessed in the 
adjustment block between the black and white thumb screws. 

1               1 

2                                       3                       3 

20



4. The inner top guide edge is a narrow metal strip sandwiched between the 
top two plates of the inner hem guide assembly.  It will slide towards or 
away from the edge of the inner hem guide by applying force on the front 
clamping cap screw and the adjustment block against the either edge of 
the inner hem guide. 

5. Place a ruler within the two upper plates of the inner hem guide assembly 
to measure the distance from the inner top edge guide to the edge of the 
plates.  Match this measurement with the new wedge size to be installed.  
Check this measurement in two places to make sure the inner top edge 
guide is straight.   

6. When completed, tighten the two clamping cap screws.  Re-assemble the 
inner and outer sections of the hem guide, carefully re-insert the hem 
guide into the Spec machine, and tighten the cap screw through the guide 
mount to secure the hem guide to the Spec machine.

4                                                4
For Larger Wedge Sizes                  For Smaller Wedge Sizes 

5                                                                                                5

6                                                                                6

21



7. Turn the wedge in to the welding position.  Loosen the two black 
thumbscrews on the top of the adjustment block.  Place a straight edge 
against the top edge guide and extend out towards the pressure rollers.
Adjust the inner section of the hem guide so the straight edge (top edge 
guide) matches the inside edge of the wedge.  The outside edge of the 
wedge should match the edge of the upper section of the hem guide.
When positioned, retighten the black thumbscrews. 

8. Loosen the black thumb screws on the top of the outer guide and slide 
the outer guide into the inner guide until it stops.  Re-tighten the black 
thumb screws. 

9. Loosen the white thumb screw on the adjustment block and slide the 
outer guide set rod out until it touches the outer guide adjustment block.  
Re-tighten the white thumb screw. 

7

7 7

8 9

22



Hem Cord Set-up:

To set up for the hem cord style weld: 

1. Loosen the two red thumb screws on top of the outer guide adjustment 
block as well as the third red thumb screw located in the front of the hem 
guide underneath the lower section of the outer guide assembly.   

2. Looking from the side of the Spec Welder at the outer guide adjustment 
block, locate the Phillips head screw for adjusting the outer fold guide.  It 
is located under the center mounting block of the outer guide.   

3. Use the Phillips head screwdriver to adjust the outer fold guide edge.  The 
adjustment desired should be according to the rope or cord size.  Turn 
clockwise for larger rope or cord size.  Turn counterclockwise for a smaller 
rope or cord size.  Use a sample of the rope or cord within the inner and 
outer fold guides to measure.  Also allow room for the fold of material.   

4. When the inner fold guide edge is positioned correctly, tighten the three 
red thumb screws.

1 1

2 3

                                Rope or Cord 

To weld the hem cord, loosen the two black thumb screws on the top of the 
outer guide adjustment block and slide the outer guide out slightly.  Folding the 
material over, enter the edge of the material into the hem guide and against the 
top guide edge.  Slide the material the length of the guide and out beyond the 
pressure rollers.  Insert the rope or cord inside the fold of material and slide 
beyond the pressure rollers.  Position the material at the welding area, slide the 
outer guide in to confine the cord and material, and tighten the black thumb 
screws.  Re-position the material and cord again and lower the pressure rollers 
to secure.  Engage the wedge in to begin welding.  When welding, be attentive 
to the flow of material and cord entering into the hem guide and the edge of the 
material against the top guide edge. 

23



Pocket Set-up:

To set up for various size pocket style welds: 

1. Loosen the two black and red thumb screws on top of the outer guide 
adjustment block as well as the third red thumb screw located in the front 
of the hem guide underneath the lower section of the outer guide 
assembly (refer to Pg. 20, Step 1).     

2. Slide the outer guide completely out and re-tighten the two black thumb 
screws.

3. Adjust the outer fold guide edge of the outer guide by sliding it into the 
outer guide adjustment block to create a maximum size opening in the 
guide tray.  When positioned, re-tighten the three red thumb screws.

4. Locate two set screws accessible through two holes located near the 
inside edge of the inner hem guide section.  One hole is at the front of the 
hem guide.  The other hole is just in front of the inner hem guide 
adjustment block.  Use a 2mm hex wrench to slightly loosen these screws. 

                         3                               

4                                          4

24



5. At either end of the inside edge of the upper hem guide section, reach in 
and slide the inner fold guide out towards the outer guide.  The distance 
extended will define the size pocket to be made.  When the inner fold 
guide edge is positioned, re-tighten the two set screws. 

To weld a pocket, loosen the two black thumb screws on the top of the outer 
guide adjustment block and slide the outer guide completely out.  Folding the 
material over to create the pocket shape, enter the edge of material into the 
hem guide and against the top guide edge.  Slide the material the length of the 
guide and out beyond the pressure rollers.  Adjust and position the material at 
the welding area, slide the outer guide in to confine the material, and retighten 
the black thumb screws.  Re-position the material again and lower the pressure 
rollers to secure.  Engage the wedge in to begin welding.  When welding, be 
attentive to the flow of material entering into the hem guide and the edge of the 
material against the top guide edge. 

25



Flat Hem Set-up:

To set up for the flat hem style weld, the addition of a lever pressure arm to the 
hem guide as well as a change to larger pressure rollers will be made.  

1. Loosen the two black and red thumb screws on top of the outer guide 
adjustment block as well as the third red thumb screw located in the front 
of the hem guide underneath the lower section of the outer guide 
assembly (refer to pg. 20, step 1).

2. Slide the outer guide out slightly and re-tighten the black thumb screws.  
3. Locate the two dowels on the inside edge of the outer guide center 

adjustment block.  Attach the lever pressure arm to these dowels making 
sure there is a step down from the outer guide to the lever pressure arm.  
Use the screw provided to secure.   

4. Change the pressure rollers by removing the screw and washer from the 
axle shaft, sliding off the existing roller, and install the larger roller with 
the same screw and washer.  Make sure the locking pin on the axle shaft 
seats in the roller.  

5. Note: To allow room between the lever pressure arm and the pressure 
rollers, use a 4mm hex wrench to loosen the hem guide adjustment 
mount cap screw.  Slide the hem guide fully forward in the adjustment 
slot and re-tighten the cap screw.

2                                                                                                3

3           4              5 

26



6. Loosen the two black thumb screws on the top of the outer guide 
adjustment block, slide the outer guide back in towards the inner guide 
section until it stops, and re-tighten the thumb screws. 

7. Locate the outer fold guide adjustment screw (see page 20, figure 2).  
Using a Phillips head screwdriver, turn counter clockwise to adjust the 
inner fold guide edge completely out until the movement stops.  This 
should place the outer fold guide edge against the inner fold guide edge.  
When positioned, tighten the three red thumb screws.   

8. Note: As a test, when the wedge is turned in to the welding position, 
pressure should be exerted by the side of the wedge against the lever 
pressure arm to compress the arm in slightly.  This pressure is important 
for the melt of the thermoplastic around the fold for the flat hem finish. 

6

7

To weld the flat hem, loosen the two black thumb screws on the top of the outer 
guide adjustment block and slide the outer guide out slightly.  Folding the 
material over, enter the edge of the material into the hem guide and against the 
top guide edge.  Slide the material the length of the guide and out beyond the 
pressure rollers.  Adjust and position the material at the welding area, slide the 
outer guide in to confine the material and re-tighten the black thumb screws.  
Reposition the material again and lower the pressure rollers to secure.  Engage 
the wedge in to begin welding.  When welding, be attentive to the flow of 
material entering into the hem guide and the edge of the material against the 
top guide edge. 

27



Acrylic Hem: 

For welding with the Thermal Bonding Tape on acrylic coated materials, a 
guiding system has been developed to position the tape correctly.  To set up:

1. Install the tape dispenser to the front rail on the top of the Spec motor 
box.  Position the dispenser to the end of the rail above the tape front 
guide.   

2. Place a roll of Thermal Bonding Tape within the dispenser and adjust the 
dispenser if necessary for the tape to clear the pressure adjustment knob.

3. Feed the tape through the short portion of the tape guide then turning the 
tape at a right angle and feeding through the length of the tape guide 
path contained in the hem guide assembly.   

4. When the tape appears at the end of the guide, extend the tape out and 
over the lower pressure roller.

1                                                                                3

3                                                                4

To weld acrylic coated materials using the Thermal Bonding Tape, proceed at 
this point with the previous instructions for performing the three hem weld 
styles.

28



MATERIAL SETUP 

Material should be laid out as flat as possible, either on the floor or table depending on 
how you set up your fabrication area.  With most material and especially thinner goods, it 
is preferred to pull out the wrinkles or pull taunt.  The use of sheet metal in or next to the 
machine on the table, allows for the use of magnets to position and hold the material. 
Taping material taunt is a good practice.  

To perform overlap welds, always overlap material more than the final weld width. 
Example: With a 1 1/2” weld width, overlap the end of material or run 2 to 2 1/2”.  The 
machine will push the material to the desired overlap.  If the material is not overlapped or 
positioned properly, the machine will not make the desired overlap weld.  See example 
below.

29



TRACK WELDING SPECIFICATIONS

Listed below in Figure 1 are the dimensions for building your Track System.  Always 
check the Spec in the track to make sure it does not bind up or that the track is to big so 
the Spec will not be crisscrossing the track. 

Make sure you always have a smooth, clean flat surface for the Spec to run on. 

TABLE MOUNT TRACK: You may design your track in several ways.  The best is to 
build the Track into the table as shown in Figure 2 below.  This will allow the material to 
lay flat at all times, this is helpful in the welding process. 

TABLE MOUNT ADD ON: You may want to add a Track on to the end of your existing 
table as shown in Figure 3 below.  Material on the short side will then fold on the floor. 

FLOOR MOUNT TRACK:  By using L iron or 1” by 1” wood strips, you can mount on 
the floor with pins so they may be removed when not in use.  This method can be used on 
a table for removal also. 

We also suggest using sheet metal on top of the table so that you may use magnets to 
hold and position the material.  See Figure 4. 

          Sheet Metal 

2 ¼” 
            1”      
          Sheet Metal 
     10 3/8”  

SPEC SPEC 

30



SPEC OPERATING INSTRUCTIONS 

1. Turn the Power Switch #2 on.  The Green Power Light #3 will go on with a one 
second delay.  The Green light will remain on as an indicator that you have power to 
the heaters.

2. Temperature Controller #7 will come on with a 1-2 second delay after Green Power   
     Light goes on.  Units are set in Celsius at the factory.  Press the up or down button
     until you reach your desired temperature.  Heat up time is only one to two minutes.   
     Do not adjust heat over 510 degrees C. For sample welds, set controller to 400
     degrees C.  This may not be your final setting. 

3.  Set For/Rev Switch #4 to Forward position.  This indicates direction of machine and   
     drive /pressure roller movement. 

4.  Set Man/Auto Switch #5 to Auto position.  This will engage or start Drive/Pressure    
      rollers when wedge is moved into welding position. 

9

11

2

3
10 7

1
4

5

31



SPEC OPERATING INSTRUCTIONS, CONT.

5. Swing Drive Wheel Assembly #10 under bottom Pressure Roller.  This will make the    
machine move automatically.  With Drive Wheel Assembly out, the machine can be used 
in a stationary mode. 

6.  #1 is the Speed Control. It is adjustable from 0-30 feet per minute.  Normal setting 
will be in the 30 to 60% range, for 12-30 mil goods. 

7.  Insert material into the machine with proper guides installed and close Pressure
 Wheel Handle #9. 

9.  Swing Wedge Engagement Handle #11 in toward the machine, this will       
automatically start forward motion of the Spec and engage wedge with material. 

10.  Adjust speed control up or down until you can verify you are getting a proper weld. 

32



RH-120v- Motor & Controls Module-Diagram A&B 

Schematic # Part # Description 

DIAGRAM A 
1 SW304110A Motor and Control Housing Frame Top 
2 SW102262 Handle 2 Hole/Top Mount 
3 SW1833105 Prec Ground Shaft 8 H7/G6 185.50L 
4 393050R Fuse Holder 
5 393050 Fuse Holder Straight Angle 
6 310173 Flex Fitting 
7 310136SD Watlow Controller, Dual Display 
8 SW17103008 M3x.50x8.00 Pan HDPM Screw 
9 SW304111B Controls Mount Panel 

11 SW1712001 Finishing Plug-Nylon-Locking Unvent 
12 SW99979 Black Pot Control Knob 
13 310110A Speed Control Potentiometer 
14 309999 Light Module Mounting Collar 
15 309998 110V Green LED Light Module 
16 310010A Speed Control Potentiometer 
18 310010B Knob Dial Kit 
19 310006N Green Pilot Light Head 
20 310002 2-Pos Switch Throw 
21 310005 Base W/2 Normally Open Contacts 

DIAGRAM B 
9 SW1804407 AMP CPC Circular Connector 

28 SW304147A 2 Piece Motor Housing Main Cover 
29 SW304148A 2 Piece Motor Housing Back Cover 
30 SW304149 Motor Hsg Cover – 2 Pc Connector 
36 SW17103008 M3x.50x8.00 Pan HDPM Screw 
37 SW17103006 M3x.50x6.00 Pan HDPM Screw 







RH Motor & Controls Module – Diagram C 

Schematic # Part # Description Qty
3 SW1802610 Gear 1M Pitch/28T/20 P Angle 
8 310162 Solid State Relay 
9 310164 120VAC Limit Controller 
9 310165 230VAC Limit Controller 

12 310109 120/230VAC Motor Controller 
14 310129 Bodine Gear Motor 
23 SW2870002 Washer 3mm Fender 
26 SW304112A Motor & Controls Housing Frame Bottom 
27 SW304123A Carrier Mtr Ctrl SS Relay Filter 
31 SW304117A Motor & Controls Housing Mount Panel 
32 SW11105020 Socket Head Cap Screw M5x.80x20.00 
34 SW17103012 M3x.50x12.00 Pan HDPM Screw 
35 SW17103016 M3x.50x16.00 Pan HDPM Screw 
37 SW17103008 M3x.50x8.00 Pan HDPM Screw 
38 SW1832625 Ansi Ground Dowel Pin M6.0x18 SS 
40 SW1605314 Bushing Type Brg .500IDx.594ODx.25L 





RH Lap Weld Rolling Chassis Base-Diagram D 

Schematic # Part # Description Qty
1 SW102271 Lift Handle 2
2 SW1500108 Flat Belt Idle Pulley 1 
3 SW1602103 Steel Ball Bearing #608 8mm Shaft 4 
4 SW1832101 Precision Ground Shaft 6 H7/g6 24  LG 3 
5 SW1833106 Precision Ground Shaft 8 H7/g6 157 LG 1 
6 SW2870303 Thick Washer M5 1 
7 SW2870408 Belleville M Precision SS 17-4 PH 1 
8 SW2870604 Shim Washer M8 2 
9 SW2870615 Shim Washer M12 1

10 SW304003  
For Overlap  

Lower Pinch Drive Belt – Toothed 1

10 SW304005 
For Hem 

Lower Pinch Drive Belt – Toothed 1

11 SW304101B Chassis Base Lap/Hem Rev B 1 
12 SW304106B 

For Overlap 
RH Lap Lower Drive Housing 1

12 SW304107B  
For Hem  

RH Lap Lower Drive Housing 1

13 SW304155A 
For Overlap 

Lap Lower Pinch Drive Carrier Plate 1

13 SW304156A 
For Hem 

Lap Lower Pinch Drive Carrier Plate 1

14 SW304167B 
For Overlap 

R/L Lap Lower Drive Housing Cover 1

14 SW304168A 
For Hem 

R/L Lap Lower Drive Housing Cover 1

15 SWS304920C Lap Hem Chassis Base Connector 1
16 SWS304979A Lower Roller Axle Carrier 1
17 SWS304987A Lower Axle Housing and Bearings 1
18 SWS310801 Travel Wheel Arm 1
19 SWS310863 Wheel Mounted on Axle 4
20 SWS310881 Caster Wheel M27 x M40WD on Axle 1
21 SWS314801 Idler Pulley 2 Flg Bearing 1
22 SWS314812C Gear & Pulley Drive Cluster 1
23 SWS314841C Standard Lower Roller Drive Shaft 1
24 SWS314991A M9 GT3 Belt Tensioner 1
25 SW11105016 Socket Head Cap Screw M5 x .80 x 16 6
26 SW11105020 Socket Head Cap Screw M5 x .80 x 20 8
27 SW11108035 Socket Head Cap Screw M8 x 1.25 x 35 2
28 SW14104012 Phillips Flat Head Machine Screw M4 x 7 x 12 8 
29 SW17103012 Pan Head Phillips Machine Screw M3 x 50 x 12 4 
30 SW17103006 Pan Head Phillips Machine Screw M3 x 50 x 6 7 
31 SW1831625 Dowel Pin M4 x 16 7
32 SW1832625 Dowel Pin M6 x 18 2





Wedge Pivot Housing-Diagram E&F  

Schematic # Part # Description Qty
1 SW11105016 Socket Head Cap Screw M5 x .80 x 16 2
2 SW1802120 Hand Retractable Spring Plunger 1
3 SW1804002 Miniature Snap Switch 1
4 SW1808201 Gas Spring 30 lb Force 1 
5 392056 10mm Ball Metal End Fitting M6 2 
6 SW1808402 M10 Ball Stud M8 x 1.25  1 
7 SW1808781 Torsional Spring 1
8 SW2870408 Belleville M Precision – SS 17-4 PH 1 
9 SW2902101 ¼” Pipe Strap 2

10 SW304132A Standard Wedge Pivot Arm 1
11 SW304136A Wedge Pivot Housing Right Cover 1
12 SW304138B Wedge Pivot Adjuster Cam 1 
13 SW304144A Wedge Operation Handle 1 
14 SW304169A Wedge Guard 1 
15 SW304174A Wedge Guard Pivot Shaft 1
16 Misc 3/8 OD x 5/8 Length Nylon Tubing 1
17 SWS304986 Wedge Pivot Housing and Bearings 1
18 SW312611 Standard Wedge Rod Clamp 1
19 SWS312952 Wedge Mount Arm Assembly 1
20 SW314321A Wedge Pivot Shaft 1 
21 SW11104012 Socket Head Cap Screw M4 x .70 x 12 2
22 SW11104020 Socket Head Cap Screw M4 x .70 x 20 4
23 SW11105016 Socket Head Cap Screw M5 x .80 x 16 2
24 SW11105020 Socket Head Cap Screw M5 x .80 x 20 1
25 SW17103006 M3 x .50 x 6 Pan HDPM Screw 3
26 SW15105020 M5 x .80 x 20 SS Low Head Soc Cap 1
27 SW17103020 M3 x .50 x 20 Pan Head Phillips Machine Screw 2 
28 SW17103008 M3 x .50 x 8 Pan Head Phillips Machine Screw 4 
29 SW33108020 M8 x 20 Dog Point Set Screw 1 
30 SW1832626 Hex Head Nut – Nylock 3m 2
31 SW1831625 ANSI Ground Dowel Pin M4 x 16 SS  3
32 392058 Safety Clip 2







RH-240V Motor & Controls Module-Diagram G 

Schematic # Part # Description 
1 SW102262 Handle 2 Hole/Top Mount 
2 SW1833105 Precision Ground Shaft 8 H7/g6 185.50L 
3 393050R Fuse Holder ¼” Right Angle 3AG Fuse 
4 393050 Fuse Holder ¼” Straight Angle 
5 310173 Flex Fitting ½” NPT Black Connector 
6 310136SD Watlow 1/32 Din Control  

10 SW1804211Z ZNR Transient/Surge Absorber 
11 SW304110A Motor & Control Housing Frame Top 
12 SW17103008 M3 x .50 x .00 Pan HDPM Screw 
13 SW304111B Controls Mount Panel 
14 310010A N O Contact w/o Base  
15 310010B N C Contact w/o Base 
16 310197 Push Pull E-Stop 
17 309999 Light Module Mounting Collar 
18 310006N Green Pilot Light Head 
19 310002 2 Position Throw Switch 
20 310004 3 Position Throw Switch 
21 309997 240 V Green LED Light Module 





Chassis Backbone & Control 

Schematic # Description  Part # 
1 Socket Head Cap Screw SW11106025 
2 INA/KUVE 15ES-Rail & Block(s) SW1638601
3 Mini Snap-Acting Switch-Roller SW1804002 
4 Gas Spring .25 Rod x 2.00 S x 7.5 SW1802014 
5 Gas Spring Rod end for M10 Ball 392056 
6 M10 Ball Stud - M8 x 1.25 Thread SW1808402 
7 Metric Large OD Zinc Plate 5.3IDx15ODx1.2 SW2870004 
8 Metric Large OD Zinc Plate 6.4IDx18ODx1.6 SW2870005 
9 Metric Shim Washer DIN 988/M8 SW2870604 

10 Wave Spring/Washer SW2871001 
11 Metric Extretaining-Ring  SW2900105 
12 LAP Chassis Backbone Cover SW304105B 
13 Upper Roller Operator Handle SW304143B 
14 Lower Lin-Brng Cover Retainer Plate SW304162 
15 Upper Lin Brng Cover Retainer Plate SW304165 
16 Pressure Adjuster Block SW304179A 
17 Upper Arm Lin Brng Mount SWS304860C 
18 Wedge Pivot Syst Lin-mount SWS304870B 
19 RH Lap Chassis Backbone SWS304950A 
20 Pressure Indicator SWS304982 
21 Upper Primary Drive Link Arm SWS304983A 
22 Lower Primary Gear Carrier SWS304984 
23 Upper Primary Gear Cluster Rocker Arm SWS304985A 
24 Ext. Spring and Spring Rod End SWS304988 
25 Lin-Syst Operator Cam and Bearings SWS304990A 
26 Knob & Adjustment Screw SWS304993 
27 Gear & Pulley Drive Cluster SWS314812C 
28 Gear & Pulley Drive Cluster SWS314813A 
29 Gear & Pulley Drive Cluster SWS314829A 
30 Socket Head Cap Screw M5x.80x16 SW1105016 
31 Socket Head Cap Screw M5x.80x20 SW1105020 
32 Socket Head Cap Screw M8x1.25x35 SW1108030 
33 Flat Head Socket Cap Screw SW12105010 
34 Phillips Flat Head Machine Screw SW13103006 
35 Button Head Cap Screw SW16105012 
36 Pan Head Phillips Machine Screw M3x.50x12 SW17103012
37 Pan Head Phillips Machine Screw M3x.50x16 SW17103016
38 Pan Head Phillips Machine Screw M3x.50x8 SW17103008
39 Dowel Pin M4x12 SW1831624 
40 Dowel Pin M4x24 SW1831626 
41 Dowel Pin M4x28 SW1831627 
42 Dowel Pin M6x18 SW1832625 
43 Socket Head Shoulder Screw SW1832023 







33



34



STANDARD WARRANTY 

SINCLAIR EQUIPMENT COMPANY’S tools are warranted to be free of defects in 
workmanship and materials for a period of one year from the date of original purchase.  Should 
any trouble develop during this one-year period, return the complete tool, freight prepaid, to 
SINCLAIR’S authorized Service Center.  If inspection shows the trouble is caused by defective 
workmanship or materials, SINCLAIR EQUIPMENT COMPANY will repair, or, at its option, 
replace without charge. 

This warranty does not apply to malfunctions caused by damage, unreasonable use, faulty 
repairs made by others, or failure to provide recommended maintenance. 

The warranty is void if the product is altered by the original consumer purchaser, or if it is 
used in a manner not recommended by the manufacturer. 

The warranties do not cover consequential damages or transportation charges incurred with 
the replacement or repair of SINCLAIR EQUIPMENT COMPANY products. 

Not responsible for lost job or down time. 

In no event shall SINCLAIR be liable for any indirect, incidental, or consequential damages from 
the sale or use of the product.  This disclaimer applies both during and after the term of this 
warranty. 

SINCLAIR EQUIPMENT COMPANY disclaims liability for any implied warranties, including 
implied warranties of “merchantability” and “fitness for a specific purpose”, after the one-year 
term of this warranty. 

This warranty gives you specific legal rights, and you may have other rights, which vary from 
state to state.  Should you have any questions, contact SINCLAIR EQUIPMENT COMPANY at 
(530) 626-9386. 

To obtain warranty service, deliver or send the complete tool, prepaid, to SINCLAIR 
EQUIPMENT COMPANY.  Be sure to include the following information: 

Nature of failure; 
Name and address of distributor where tool was purchased; 
Application of tool when rendered defective; and 
Proof of purchase. 

To obtain individual repair parts, contact SINCLAIR EQUIPMENT COMPANY with the 
following information: 

Tool model number; 
Item part number; and 
Description of part.

35



NOTES

36


